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CHAPTER 4

 GLOBALTSATION

AND THE INDIAN ECONOM
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A;nnsumers in today's world, some
of us have & wide choice of goods and
services before us. The latest models
of digital cameras. mobile phones and
televisions made by the leading
manufacturers of the world are within
our reach. Every season, new models
of automobiles can be seen on Indian
roads. Gone are the days when
Ambassador and Fiat were the only
cars on Indian roads. Today, Indians
are buying cars produced by nearly
all the top companies in the world. A
similar explosion of brands can be
seen for many other goods: from shirts
to televisions to processed fruit juices.
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such wide-ranging choice ot goods
in our markets is a relatively recent
phenomenor. You wouldn't have
found such a wide variety of goods in
Indian markets even two decades
back. In a matter of years, our
markets have been transformed!

How do we understand these
rapid transformations? What are the
factors that are bringing about these
changes? And, how are these changes
affecting the lives of the people?
We shall dwell on these questions in
this chapter.
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Spreading

Until the middle of the twentieth
century, production was largely
organised within countries. What
crossed the boundaries of these
countries were raw materials, food
stuff and finished products. Colonics
such as India exported raw materials
and food stuff and imported finished
goods. Trade was the main channel
connecting distant countries. This was
before large companies called

o MNC

by

o e

multinational corporations (MNQ,).
emerged on the scene. A MNC g -
company that owns or contrgg
production in more than one natioy,
MNCs set up offices and factories f,,
production in regions where they cap,
get cheap labour and other resourceg
This is done SO that the cost ot
production is low and the MNCs cap,
earn greater profits. Consider the
following example.

of Produciion

A large MNC, producing industrial equipment, designs its
products in research centres in t
has the components manufacture
shipped to Mexico and Eastern Europe where the products

he United States, and then
d in China. These are then

are assembled and the finished products are sold all over the
world. Meanwhile, the company's customer care is carried out
through call centres located in India.

This is a call centre in Bangalore. equipped with telecom facilities and access to
Internet to provide information and support to customers abroad.
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o this example the MNC is 10 only
_qling its finished products globally,
st , I{l ore important, the goods and
::rviccs are produced globally, A
4 result. production is organiseq jp
iucreasiﬂgl)7 COmP“"x ways. The
Produ(‘lion process is divided intg
small parts and spread out acrosg the
globe. In the above example, China
provides the advantage of being a
cheap manufacturing location,
Mexico and Eastern Europe are usefy)

Completa the followin
industry

The brand tag
the manufacturin
doing it globaliy.
fibre from Korea,

~
/ [

In general, MNCs set up production
where it is close to the markets: where
there is skilled and unskilled labour
available at low costs; and wliere the
availability -of -other factors of
production is assured. In addition,
MNCs might look for government
policies that look after their interests.
You will read more about the policies
later in the chapter.

Having assured themselves of these
conditions, MNCs set up factories and
offices for production. The money that
Is spent (o buy assets such as land,
building, machines and other
equipment is called investment.
Investment made by MNCs is called
foreign investment. Any investment
is made with the hope that these
assets will earn profits.

‘ g statem
IS spread across countries,

for their closeness to the markets

in the US ang Europe. India has
highly skilled engineers who can
understand he technical aspects of
Production. It glso has educated
English speaking youth who can
provide customer care services, And
all this probably can miean 50-60 per
Ceént cost-savings for the MNC!
The advantage of spreading out
production across the borders to the
multinationals can be truly immense.

At times, MNCs set up production
Jointly with some of the local
companies of these countries. The
benefit to the local company of such
joint production is two-fold. First,
MNCs can provide money for
additional investments, like buying
new machines for faster production.
Second, MNCs might bring with themn
the latest technology for production.
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ent to show how the production process in the garment

says ‘Made in Thailand’ but they are not Thai products. We dissect
ol procgss and look for the best solution at each step. We are
In making garments, the company ma

y, for example, get cotton

WE Wite
THIE FACTORY T0
ANCOTHER COUNTRY,
T HAS BECOME
EXFENSIVE HEPE!

ST




Women at home in Ludhiana making footballs for large MNCs

But the most common route for
MNC investiments is to buy up local
companies and then to expand
production. MNCs with huge wealth
can quite easily do so. To take an
example, Cargill Foods, a very large
American MNC. has bought over
smaller Indian companies such as
Parakch Foods. Parakh Foods had
built a large marketing network in
various parts of India. where its brand
was well reputed. Also, Parakh Foods
had four oil refinerics. whose control
has now shifted to Cargill. Cargill is
now the largest producer of edible ol
in India, with a capacity to make 5
million pouches daily!

In fact, many of the top MNCs
have wealth exceeding the entire
budgets of the developing country
governments. With such ¢normous
wealth, imagine the power and
influence of these MNCs!

There's another way in which
MNCs control production. Large
MNCs in developed countries place
orders for production with small
producers. Garments, footwear,
sports items are examples of
industries where production is
carried out by a large number of
small producers around the world.

Jeans produced indeveloping countries being
sold in USA for Rs 6500 ($145)

The products are supplied to the
MNCs, which then sell these under
their own brand names to the
customers. These large MNCs have
tremendous power to determine price,

quality, delivery, and labour
conditions for these distant
producers.

Thus, we see that there are a
variety of ways in which the MNCs are
spreading their production and
interacting with local producers in
various countries across the globe. By
setting up partnerships with local
companies, by using the local
companies for supplies, by closely
competing with the local companies
or buying them up, MNCs are exerting
a strong influence on production
at these distant locations. As a
result, production in these widely
dispersed locations is getting
interlinked.
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apantt). 18 one of the 1. Would you say ¢ _
P Ll =8y rord Motors is a MNC? Why?
portd’s e 2. What is forei ' 4
e P S . . Wiiig tCray iNnvostre ) .
1,..ur::u}a:3r manufaciurers 5 & SN Investment? How much did Ford FMotors invest in Incha?
with production Spre ek M'\'O;_“;i“t'ﬂ'lfi t:P their production plants in India, MNGs such as Ford
" = y .\v. - ¥ (R 9} - r 3 s = 4 3 .
ot 25 EIGAES, 1 ks such as LI;c'!;.E‘p?cd\\,"?imagc not only of the large markets that countries
Jord Motors came L. e pIovide, but also the i sosts jucti in
worid. [or e ' the statement. lower costs of production. Expla
mdia it 1995 «und
foil 4

5!!{‘.’!! Rs. 1700 crore to
ot up a large plant near
;?hvnnni. This was done
in collaboration with
Mahindra and Mahindra,

- Why do you think the Co

mpany wants to develop India as a base for

manufacturi
anufacturing car components for its global operations? Discuss the

foliowing factors:
(a) cost of labour and other resources in India

{b) thﬁ"presence of several local manufacturers who supply auto-
paris to Ford Moiors

q major Indian
manufacturer of jeeps 5
and trucks. By the year
2004. Ford Motors weas
selling 27.000 cars in the
mdian markets.

rhile 2-4.000 cars were
wported from India to
south Africa. Mexico and
3razil. The company

vants to develop Ford
ndia as a component
upplying base for its
ther planis across the
lobe.

{C) clogeness to a large number of buyers in India and China

!n what ways will the production of cars by Ford Motors in India lead to
Interiinking of production?

6. In what ways is a MNC different from other companies?

~

- Nearly all major multinationals are American, Japanese or European,
such as Nike, Coca-Cola, Pepsi. Honda, Nokia. Can you guess why?

g e gy e

F Cars tﬁade by [
fransported to be

oreign trade has been

To I)Ul it Si]ll!)l\'. loreign trade
) . 2 =
channel connecting

creales an opportunity for the
producers to reach beyond the
domestic markets, i.e., markets of their
own countries. Producers can sell their
produce not only in markets located
within the country but can also
compete in markets located in other
countries of the world. Similarly, for the
buyers, import ol goods produced in
another country is one way of -
'mpany to India. What then is the  expanding the choice of goods beyond
sic function of foreign trade? what is domestically produced.

a - T
b AN A IS R T ARD A ow ot e e Pa - - - Nad 2 c

e main
wantries. In history you would have

‘ad about the trade routes
mnecting India and South Asia to
arkets both in the East and West
id the extensive trade that took place
ong these routes. Also. you would
member that it was trading interests
lch attracted various trading
mpanies such as the East India
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Let us see the effect of foreign trade

through the example of Chinese toys
in the Indian markets.

Chinese manufacturers learn
of an opportunity to export toys
to India, where toys are sold at
a high price. They start
exporting plastic toys to India.
Buyers in India now have the
option of choosing between
Indian and the Chinese toys.
Because of the cheaper prices
and new designs, Chinese toys
become more popular in the
Indian markets. Within a year,
70 to 80 per cent of the toy
shops have replaced Indian
toys with Chinese toys. Toys
are now cheaper in the Indian
markets than earlier.

CWJ T,“‘,),

What is happening here? As a
result of trade, Chinese toys
come into the Indian markets.
In the competition between
Indian and Chinese toys,
Chinese toys prove better.
Indian buyers have a greater
choice of toys and at lower
prices. For the Chinese toy
makers, this provides an
opportunity to expand business.
The opposite is true for Indian
toy makers. They face losses,
as their toys are selling
much less.
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sep? trade thus results in
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s Smail traders of readymade garments facing stiff

competition from both the MNC brands and impffﬂs- —
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1. What was the main channel connecting countries in the past? How is it different
now?

2. Distinguish between foreign trade and foreign investment.
3. In recent years China has been importing steel from India. Explain how the import
of steel by China will affect.
(a) steel companies in China.
(b) steel companies in India.
(c) industries buying steel for production of other industrial goods in China.

4. How will the import of steel from India into the Chinese markets lead to integration
of markets for steel in the two countries? Explain. »

o i Y
"e\'?_f“; AT | o
- Yy FaIras Ao

LA

n the past two to three decades, more
,nd more MNCs have been looking for
ocations around the world which
r-ould be cheap for their production.
oreign investment by MNCs in these
suntries has been rising. At the same
me, foreign trade between countries
s been rising rapidly. A large part
‘the foreign trade is also controlled
7 MNCs. For instance, the car
anufacturing plant of Ford Motors
India not only produces cars for the
lian markets, it also exports cars
other developing countries and
orts car components for its many
tories around the world. Likewise,
lvities of most MNCs involve
stantial trade in goods and also
ices.

——

BE CAREFUL! THAT'S W
OUR WORLD YOURE
FLAYING WITHI
SOMEDAY YOU'LL
HAYE TO FAY THE
PRICE!

Vv

GLOBALISATION
1S FUN!
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The result of greater foreign
investment and greater foreign trade

has been greater integration of

production and markets across
counlrics.(Globalisation is this
process of rapid integration or
interconnection between countries)
MNCs are playing a major role in
the globalisation process. More
and more goods and services,
investments and technology are

moving between countries. Most
regions of the world are in closer

LEl'S WORK THESE

@ What is the role of MNCs in the globalisation process?

2. What are the various ways in which countries can be
linked?
3. Choose the correct option.
Globalisation, by connecting countries, shall result in
(a) lesser competition among producers.
(b) greater competition among producers.
(c) no change in competition among producers.

7+ { o :

Technology

contact with each other than feve
decades back.

Besides the movements of g £00(
services, investments and tee hnolgg,,
there is one more way in which
countries can be connected, This i
through the movement of pegp,
between countries. People usygy
move from one country to another
search of better income, better jobg
better education. In the past fe,,
decades, however, there has not begy,
much increase in the movement of
people between countries due
various restrictions.

~WEVE SEEN GEF/’T /WF’E”%& ENTS
IN TRANSFORTATION...

i‘ih

Rapid improvement in technology has been one major factor that has
stimulated the globalisation process. For instance, the past fifty years have
seen several improvements in transportation technology. This has made much

faster delivery of goods across long distances possible at lower costs.

Containery foi
'{.‘r'cu%;ﬂpm”ff of gnod,g
Goods are placed in containers
that can be loaded intact onto
ships. railways, planes and trucks.
Containers have led to huge
reduction in port handling costs
and increased the speed with |
which exports can reach markets.
Similarly, the cost of air transport
has fallen. This has enabled much
greater volumes of goods being
transported by airlines.
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Jore remarkable have been

1l 11 =
dﬂ_{,wpmenls in information and
the Ihunication technology. In
co

(imes. technology in the areas

amazing world of internet. where you
C g [

cim obtain and share information on
almost anything you want to know.

et i Internet also allows us to send instan
gf' te[ecommlinl()(;“:;:;ﬁ;; iCOZUPUtAGI‘S. electronic mail (e-mail) and lall‘i
jnternet hat & t : ‘f glmﬁ rapidly.  (voice-mail) across the world at
Telecommuuication faci ities (tele-  negligible costs.

graph- telephone including mobile

hones: fax) are used to contact one
another around_ the world, to access
mformation instantly, and to
Communicate fr_om remote areas. This
has been facilitated by satellite
mmmunication devices. As you
would be aware, computers have now
entered almost every field of activity.
you might have also ventured into the

- BUT WHERE
15 THE
ELECTRICITY?.,

ation and communication technolf)gy
InfOﬂII% in short) has played a major role in
[Osf reading out production of services
across countries. Let us sce how.

Using IT v
G lobalisaltiovv

A news magazine published for London
readers is to be designed and printed in
Delhi. The text of the magazine is sent
through Internet to the Delhi office. The
designers in the Delhi office det
orders on how to design the magazine
from the office in London using
telecommunication facilities. The
designing is done on a computer. After
printing, the magazines are sent by air
to London. Even the payment of money
for designing and printing from a bank
in London to a bank in Delhi is done
instantly through the Internet
(e-banking)!

1. In the above example, underline the
words describing the use of
technology in production.

. How is information technology
connected with globalisation? Would
globalisation have been possible
without expansion of {T?

[T /

IT LOOKS LIKE A VERY NICE
MAGAZINE. BUT WHY ISNT MY
TEXTBOOK PRINTED LIKE
THISZ | CAN HARDLY READ
THE WORDS IN MY BOOK!

oy

NO, MY CHILDI THIS
PRINTING FRESS 15 NOT
FOR ORDINARY INDIANS!

_J
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Liberalisation of foreign trade
and foreign investment
policy

Letus return to the example of imports
of Chinese toys in India, Suppose the
Indian government puts a tax on
import of toys. What would happen?
Those who wish to import these toys
would have to pay tax on this.
Because of the tax, buyers will have
to pay a higher price on imported toys.
Chinese toys will no longer be as
cheap in the Indian markets and
imports from China will automatically
reduce. Indian toy-makers will
prosper.

Tax on imports is an example of
trade barrier. It is called a barrier
because some restriction has been set
up. Governments can use trade
barriers to increase or decrease
(regulate) foreign trade and to decide
what kinds of goods and how much
of each, should come into the country.

The Indian government, after
Independence, had put barriers to
foreign trade and foreign investment.
This was considered necessary to
protect the producers withif the
country from foreign competition.
Industries were just coming up in the
1950s and 1960s, and competition
from imports at that stage would not
have allowed these industries to come
up. Thus, India allowed imports

i ~a S~ NI a‘ ¥ bl ' § mais &l W
3 g :_:_ygf:«:_'.rffs il UL

of only essential Hems Suct, |

n}_;l_chin('_ry_,_*fcrtlliscr:iLp(‘:t,rr,l,.lm‘
ete., Note that al] a}?\?&']i;?;;tn
countries, during the carly st " .
development, have given pmt.eg“o'n ;’f
domestic producers through 5 Varie 2

. t
of means. y

Starting around 1991, some
reaching changes in policy were ma c
in India. The government decideq that
the time had come for Indlan
producers to compete with Producer
around the globe. It felt that
competition would improye the
performance of producers Within
country since they would have 4,
improve their quality. Thig decisjqy,
was supported by Powerfy)
international organisations.

Thus, barriers on foreign trade anq
foreign investment were removed tg 5
large extent. This meant that goods
could be imported and eXporteq
easily and also foreign companieg
could set up factories and officeg
here.

Removing barriers or restrictions
set by the government is what is
known as liberalisation, With
liberalisation of trade, businesses are
allowed to make decisions freely
about what they wish to import or
€xport. The government imposes
much less restrictions than before

and is therefore said to be more
liberal.

]

1. What do you understand by liberalisation of foreign trada?

2. Tax on imports is one type of trade barrier, The govemment could also place a limit on
th?nr;urtr;ber & g°°ld‘°‘. t:‘aé r?an be imported. This is known as quotas. Can you explain,
€ example of Chinese toys, how quotas can be use barriers?

D0 you think this should be used? Disoyss. used as trade
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e hﬁ\"c S i
oreign I ade and Investment in India

o cupport ed by some very powerfy]
' .‘1‘tcrnatinnal organisations. These
| i1 sations say that all barriers to
foreign trade and investment gre
harmf ul. There should be no barriers.
Trade between countries should be
bce. All countries in the world
should liberalise their policies.

- organi

world Trade Organisation (WTQ) is
oné such organisation whose aim is
to liberalise international trade.
started at the initiative of the
developed countries, WTO establishes

een that the liberalisat ion of

rules regarding international trade,
and sees thil these rules are obeyed.
Nearly-+50 €5tintries of the world are
currently members of the WTO

(2006). (Lo\L)

~ Though WTO is supposed to allow
free trade for all, in practice, it is seen
that the developed countries have
unfairly retained trade barriers. On
the other hand, WTO rules have forced
the developing countries to remove
trade barriers. An example of this is
the current debate on trade in
agricultural products.

(16Y

Debate onw Trade Practices

You have seen in Chapter 2, that
the agriculture sector provides the
pulk of employment and a
significant portion of the GDP in
~ India. Compare this to a developed
country such as the US with the
share of agriculture in GDP at 1%
and its share in total ernployment

a tiny 0.5%! And yet this very
small percentage of people

who are engaged in _ .
a huge corporation that will sell cotton abroad at lowered prices.

it

agriculture in the US receive
massive sums of money from
the US government for
production and for exports to
other countries. Due to this
massive money that they
receive, US farmers can sell
the farm products at
abnormally low prices. The
surplus farm products are
sold in other country markets
at low prices, adversely
affecting farmers in these
countries.

Developing countries are, therefore. asking the
developed country governments, “We have
reduced trade barriers as per WTO rules. But you
have ignored the rules of WTO and have
continued to pay your farmers vast sums of
money. You have asked our governments to stop
supporting our farmers, but you are doing so
yourselves. Is this free and fair trade?”

A typical cotton farm in USA consists of thousands of acres owned by
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. Fill in the blanks.
_countries. The aim of the WTO is to

WTO was started at the initiative of

WTO establishes rules regarding _fOf
__ In practice, trade between countries
Developing countries like India have
ve continued

all countries, and sees that .

isnot o N
- whereas developed countries, in many cases, ha

to provide protection to their producers.
5 - )
2. What do you think can be done so that trade between countries is more fair”

. In the above example. we saw that the US government gives massive 5“:28 ?écmgggg
to farmers for production. At times, governments also give support 10 prczrqo ;'p i i
of certain types of goods, such as those which are environmentally friendiy.

whether these are fair or not.

In the last fifleen years, globalisation
of the Indian economy has come a
long way. What has been its elfect on
the lives of people? Let us look at
some of the evidence.

@Iobalisation and greater

competition among producers - both
local and foreign producers - has been
of advantage to consumers,
particularly the well-off sections in the
urban areas)There is dreater choice
before these consumers who now
enjoy improved quality and lower
prices for several products. As a result,
these people today, enjoy much
higher standards of living than was
possible earlier.

e

Among producers and workers
the impact of globalisation hag Not
been uniform.

Firstly, MNCs have increased theijr
investments in India over the past |5
years, which means invcsting in Indijy
has been beneficial for them. MNCs
have been interested in industrieg
such as cell phones, automobiles,
electronics, soft drinks, fast fooq or
services such as banking in urbap
areas. These products have g large
number of well-off buyers. In these
industries and services, new Jjobs have
been created. Also, local companies
supplying raw materials, etc. to these
industries have prospered.

PEen
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rights. In the recent years, the government
has allowed companies to ignore many of
these. Instead of hiring workers on a
regular basis, companies hire workers
‘llexibly’ for short periods when there is
intense pressure of work. This is done to
reduce the cost of labour for the company.
However, still not satisfied, foreign
companies are demanding more flexibility
in labour laws.

In recent years, the ¢entral and stat

overnments in Indja are lakincn 5 L’Ldte
sieps o attract foreign commpa pj( Al
invest in.India. Industria] 7(—)-111(3‘2111};5, -
Specfal Economic S ‘(SE} ‘cdlllcd
being set up. SEZs are to have worﬁ{ : ~que
facilities: electricity, wa ter, r ( r;bs
transport, storage, 1'(%(71'9_;71&0‘111?%( bi
e e Companies vahodn‘ct
up production units in the SEzs do If;t

have to pay taxes for an initia] period of
five years. P i T NOW, WE
, ARE READY
Government has also allowed ) 10 INVEST!
flexibility in the labour laws to attract [~
foreign investment. You have seen in ;"\“’-”-m" \ :
Chapter 2 that the companies in the {\.’ ‘ \1 E{ i /\
organised sector have to obey certain N, ) LD ‘
rules that aim to protect the workers’ \ \ | ¥ \
W | |
!

are some Indian companies which
are spreading their operations
worldwide.

acondly, several of the top Indian
panies have been able to benefit
the increased competition. They
invested in newer technology and

1ction methods and raised their Globalisation has also created

new opportunities for companies

iction standards. Some have
{ from successful collaborations
yreign companies.

providing services, particularly those
involving IT. The Indian company
producing a magazine for the London

based company and call centres are
some examples. Besides, a host of
services such as data entry, account-
ing, administrative tasks, engineering
are now being done cheaply in
countries such as India and are
exported to the developed countries.

reover, globalisation has
d some large Indian companies
nerge as multinationals
elves! Tata Motors (auto-
's), Infosys (IT), Ranbaxy
nes). Asian Paints (paints),
am Fasteners (nuts and bolts)

1. How has competition benefited people in India?
2 Should more Indian companies emerge as MNCs? How would it benefit the people in

the country?

3. Why do governments try to attract more foreign investment?

4. In Chapter 1, we saw what may be development for one may be destructive for others.
The setting of SEZs has been opposed by some people in India. Find out who are
these people and why are they opposing it.

Ay e et S AT I i DB |
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Small producers: Compet

For a large number of s
workers globalisation

challenges.

mall producers and

has p()sed m

aj()l‘

Rising Comp etiiov

Ravi did not expect that he would have
to face a crisis in such a short period
of his life as industrialist. Ravi took a
loan from the bank to start his own
company producing capacitors in 1992
in Hosur, an industrial town in Tamil
Nadu. Capacitors are used in many
electronic home appliances including
tube lights, television etc. Within three
Years, he was able to expand
production and had 20 workers
working under him.

His struggle to run his company started
when the government removed
restrictions on imports of capacitors as
per its agreement at WTO in 2001. His
main clients, the television companies,

used to buy different components
including capacitors in bulk for e
manufacture of television sets
However, competition from the MNc
brands forced the Indian television
companies lo move into assembling
activities for MNCs. Even when some
of them bought capacitors, they woulq
prefer to import as the price of the
imported item was half the price
charged by people like Ravi.

Ravi now produces less than half the
capacitors that he produced in the year
2000 and has only seven workers
working for him. Many of Ravi's friends

- in the same business in Hyderabad

and Chennai have closed their units.,

! Batteries, capacitors, plastics, toys. tyres, dairy products, and
¢ some_examples of industries where the small

vegetable oil are so

manufacturers have been hit hard due to competition. Severai of the
Hﬁits_ have shut down rendering many workers jobless. The small

— jadustries in India employ the largest number of workers (20 million)
hi_'nﬁ:'tl:féhgéiijntry, next only to agriculture. .

1. What are the ways in which Ravi’s small production unit was affected by rising competition?

Shouid producers such as Ravi stop production because their cost of production is higher compared to

producers in other countries? What do you think?

. Recent studies point out that small producers in india need three things to compete better in the marke!
(a) better roads, power, water, raw materials, marketing and information network (b) improvements anc

modernisation of technology (c) timely availability of credit at reasonable interest rates.
e Can you explain how these three things would help Indian p;oducers?
e Do you think MNCs will be interested in investing in these? Why?
e Do you think the government has a role in making these facilities available? Why?
L ]
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competition and Unceraip -

Globalisation and the pressure
of workers. Faced with HTOWin
employ workers "flexibiy

Let us see how the

: worke
in India are h .

aving {o he

Factory workers folding garments
women, the condition of employm
Large MNCs in the garment industry in
Europe and America order their products
from Indian exporters. These large MNCs
with worldwide network 1ook for the cheapest
goods in order to maximise their profits. To
get these large orders, Indian garment
exporters try hard Lo cut their own costs. As
cost of raw materials cannot be reduced,
exporters try to cut labour costs. Where
earlier a factory used to employ workers on
a permanent basis, now they employ workers
only on a temporary basis so that they do
not have to pay workers for the whole year.
Workers also have to put in very long
working hours and work night shifts on a
regular basis during the peak season. Wages
are low and workers are forced to work
overtime to make both ends meet.

While this competition among the garment
exporters has allowed the MNCs to make large
profits, workers are denied their fair share of
benefits brought about by globalisation.

ol competitjon have

- ‘p. competition, mos( ¢
s ineans {h

‘Cr ?:r ‘;’E")O’j 7" wugh globalisation hus created opportunities _for paid worl_for
SRows that women are denied their fair share of benefits.

ployment
substantially changed the lives

- mployers these days prefer to
At workers’ jobs are no longer secure.

s in the

L4

garment export industry
wr this pressure of competition.

N

A Gowrment W ovkey

35 year old Sushila has spent many
years as a worker in garment export
industry of Delhi. She was employed
as a ‘permanent worlker' entitled to
health insurance. provident fund,
overtime at a double rate. when
Sushila’s factory closed in the late
1990s. After searching for a_job for
six months. she_finally got a job 30
km. away _fromwhere she lives. Even
after working in this factory for
several years, she is a temporary
‘worker and earns less than half of
what she was earning earlier.
Sushila leaves her house every
morning, seven days a weelk at 7:30
am. and returns at 10 pm. A day
off from work means no wage. She
has none of the bengfits she used
to get earlier. Factories closer to her
home have widely fluctuating orders
and therefore pay even less.
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The conditions of work and

have become cotnmorn
workers, today, are cmploycd
conditions of work in
unorganised sector. Wwor i
get the protection and benellt:

I B -+

1. In what ways has competition affected workers, India
in tho garment industry?
2. What can be done by each of the following S0 that th
of benefits brought by globalisation?
(a) government
(b} employers at the exporting factories
(c) MNCs
(d) workers.

3. One of the present debates in India is

policies for empioyment. Based on what YO
the point of view of the employers and workers.

you have rea

The above evidence indicalcs that
not everyone has benefited from
globalisation. People with education,
skill and wealth have made the best
use of the new opportunities. On the
other hand, there are many people
who have not shared the benefits.

Since globalisation is now a
reality, the question is how to
make globalisation more ‘fair’?
Fair globalisation would create
opportunities for all, and also ensure
that the benefits of globalisation are

shared better.

The government can play a major
role in making this possible. Its
policies must protect the interests, not
only of the rich and the powerful, but
all the people in the country. You have

 read about some of the possible steps
that the government can take. For
Instance, the government can ensure

P
e CIUOONOMMIC iy

i the b :
to many industrie
in the uno

the organis

n exponters

e workers can get a fair sh

ther companie
o d in the chapt

] 7
~VELUM

1ships of the workers described by,
e 1 units and services in India, MOS(
l ised sector. Moreover, lxu'rcas,-mgl
tor have come to resemble the
r such as Sushila no longe,

rgan
ed sc¢C
;anised sector 51
enjoyed earlier.

and foreign MNCs

are

5 should have flaxible
er, summarise

that labour laws are properly

implemented and the workers get

their rights. It can support smal]

producers to improve their

performance till the time they become

strong enough to compete, If
necessary, the government can use
trade and investment barriers. It can
negotiate at the WTO for ‘fairer rules',
It can also align with other developing
countries with similar interests tg
fight against the domination of
developed countries in the WTO.,

In the past few years, massive
campaigns and representation by
people’s  organisations have
influenced important decisions
relating to trade and investments at
the WTO. This has demonstrated
.that people also can plaiy an
‘mportant role in the struggle for fair
globalisation.
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omonsiration against WTO in Hong Kong. 2605 '

In this chapter. we looked at the
aresent phase of globalisation.
Clobalisation is the process of
rapid integration of countries.
This is happening through
- greater foreign trade and foresign
investment. MINCs are playinga
major roie in the globalisation
process. More and more MNCs
are looking for locations around
the world that are cheap for their
production. As a result,
production is being organised
in complex ways.

‘Technology, particularty 1T,
has played a big role in
organising production across
countiries. Iin addition,
liberalisation of trade and

investment nas facilitaied

[ S Y

glohalisation by removing
harriers to trade nd
invesiment. At the inier-
national level, WTO has put
pressure on developing coun-
tries to liberalise trade and
investment.

While globalisation has
benefited weil-off consumers
and atso producers with skiil,
education and wealth, many
small producers and workers “
have suffered as a resuit of the
rising competition. ¥Fair
globalisation would creaie
opportunities for all, and also
ensure that the benefits of
globalisation are shared better:

-~
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